OMIUJRVIZD 3RIVNL Z SIANZDQLX -XQLRUyZ O} (Dl

= CELFD
- RONXUHQFID " JHZF]al P PRININRZ\ 0D
= \QINL (0LPLQDFIH
3XQNIN ),1$
3R]\FID 5RN XU &]DV  3Nif P
6=38&+$ .DIDUJ\QD 73 2/,03,-&=<. $HNVDQG ; $
%% ., (6 *DEUHID 3,A7.$ -RQVIDQNQyZ $
6=&=(3%$1,. -RDQQD z271,. gHP $
1,(1$a72:z6.$ 1DIDID 32/21,% zDW]DZD $
0:-,6.-$a$ 21D 62 81,% 2GZICFIP $
%257.,(z,&=$ 0.3 6]F]HFIQ $
:2-&(&+2:6.%* 81,% 2GZICFIP $
5=<6.%$ $QQD .25025%$1 2V]NQ $
%A&=( . $6UDQQD 6.6 67$57 ayGl %
3,$6.2:6.$ = HIRQIND 73 2/,03,-&=<. $HNVDQG ; %
03%$&,(6=$ $JDID 25=(a (IEgJd %
12:-%. 6RQD 3,A7.$ &KRU]yZ %
6,.25% -XVINQD 62 81,$ 2GZICFP %
1 26=8=<86.%$$ .6=2 2VIIRZIHF §Z %
%A&=( . -XVINQD 6.6 67$57 ayGl %
7(5(&+ .1QID 25=(a ((EgJd %
%8&=%$. (ZHIQD 6a2:-,$1.% *RU]yZ =(NS 5
0%$-26 3DXIQD .2521% 6,0 -HIFH 5
-$6,%. ODUNQD 3,A7.$ -RQVIDQINQyZ
&,83% $IHNVDQGUD $6725,% %\GJIRV]F]
0,6=7%/ “RURID *0 856<1T: :DW]D
-$186= ODUID * /86 *IRZIFH
../,$&6 3% ODUNOD %8 .6 = DIVIDZD
6=<0%$&6 .$ ORQIND 73 2/,03,-&=<. $HNVDQG ;
"=, (-$1 $IQHVIND ,-$5 OIHIHF
585%5= =X]DQQD 32/21,$ zDW]DZD
6$ - ,&.$ =X1D0QD " (/),1 /HJRORZR
-$a8T$ 3DI\FID 9/A6. zURFiDZ
6SIDVK OHHI ODQDJHU %XLG SHJIVIHUHG IR 3RIVK 6ZLPPLQJ )HGHUDILRQ 6IIURQD



